





Example 1 x c set 2 set 3

x x 2x 2 Kt 3

sc t 3 2 x 3

X t 3 sit 2x
3 2 9 6

X God I bet 6

F N
za 3 set 1 3 2

2 2 Joc 2x 3 3 2
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K 3 3 2

6 3 3
2

9k
4

2 2K t 6

6 3
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2
Tx t 6

Extension 2 2 5 3 22 2 1 4

2 4 5 3 3 2

4 31 10 2 6K
8 21 20 12

Zoe t 9
3
t 15 2 14 12

Expansion of a Trinomial



Exercise

1 x 12 set 3 xtc

x 2 3 6 Ita

K2 t5x t 6 octa

K't 5 5 6
4 2 20 24

x 9 2 26 24

2 ti octDCxti
x x txt c seti

of 2x 1 xxl

x's 2 2
x

X 2x I

x't 3 2 3 1

3 2x 3 2x 1 sets

45 6 2 3 xt5

4x tax 3 sets

4
3

4
2 3se

20 21 20 15

4
3 24

2 17 15



4 x 6 set 2 octa

x't 6 2 12 Xtc

so 8 12 octal
231 8 2 122

4 I 32 1 48

se't 12 2
44 48


